|

11 1

NSO NN~

M&H VALVE CO

vt

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
29 TURNS TO CLOSE

4 BOLTS ON EACH FLANGE
3/4" DIAMETER OF BOLTS
OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT
RATED AND TESTED FOR 150psi WORKING PRESSURE

5”
5@ E
L
T
8
7l| EII ﬁl'
—1g ‘_5 —67% 496
—— 2§” [——

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE

Division of McWane, Inc.

1021 EAST WATER STREET ELMIRA, NEW YORK 14901

DrRAWN: CTJ

DATE:
DWG.

¥o BOAMAM1100

1/23/2019

4" - Style 4500 - CL150
BFV with F/A 12 MSS/ISO Connection-
MJ ENDS - Buried Operator



joe.capper
Stamp


A 1 |

9
)

i i

m

2|

SECTION A-A
SCALE1:3
DETAIL B
SCALE2: 1
ITEM NO. DESCRIPTION MATERIAL
1 VANE SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFVBODY DUCTILEIRON ASTM A-536
4 UPPER JOURNAL BEARING NYLATRON
5 VANE SEATRING EPTwith SSINSERT
6 HEX HEAD CAPSCREW 18-8 STAINLESS STEEL with NYLOC PATCH
7 LOWER JOURNAL BEARING NYLATRON
8 BFVBODYEND PLUG STEEL
9 BFV VANE DUCTILEIRON ASTM A-536
i0 VANE SHAFTTORQUE PLUG 18-8 STAINLESS STEEL
11 BODYSEATRING 316 STAINLESS STEEL
12 BODY SEAT O-RING BUNA-N
e
YT 4" AWWA C504 - Style 4500 - CL150

KENNEDY VALVE [pare: 1/4/17

Division of McWane, Inc. |PWe.

1021 EAST WATER STREET ELMIRA, NEW YORK 14901 NO. BO4M B B ‘| '|

BFV with F/A 12 MSS/ISO Connection
Sub-Assembly - Material List
MECHANICAL JOINT END



joe.capper
Stamp


O NSO NN~

s ]
’

5 G

O o)
|| |
_§: ! |
g

g o)

O
\\:
=/

F(

]5‘[
]5||

oolwn

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)

29 NUMBER OF TURNS TO CLOSE
6 BOLTS ON EACH FLANGE
3/4" DIAMETER OF BOLTS

OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT

8”

arm

oo|un

RATED AND TESTED FOR 150psi WORKING PRESSURE

|

!

w
N

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE

Division of McWane, Inc.
1021 EAST WATER STREET ELMIRA, NEW YORK 14901

" BOSMAMI 1

prawn:  CTJ
DATE: 11/26/2018
DWG.

6" - Style 4500 - CL150
BFV with F/A 12 MSS/ISO Connection-
MJ ENDS - Buried Operator



joe.capper
Stamp


T 1 ‘ = )
XA/ 1
HL_I.J {1 1} )|} LL]AY\ -
B

SECTION A-A
SCALE1:3
DETAIL B
SCALE 2 : 1
ITEM NO. DESCRIPTION MATERIAL

1 VANE SHAFT 304 STAINLESS STEEL, ASTM A-276

2 V-RING PACKING SET EPDM, BUNA-N

3 BFV BODY DUCTILE IRON ASTM A-536

4 UPPER JOURNAL BEARING NYLATRON

5 VANE SEAT RING EPT with SS INSERT

6 HEX HEAD CAPSCREW 18-8 STAINLESS STEEL with NYLOC PATCH

7 LOWER JOURNAL BEARING NYLATRON

8 BFV BODY END PLUG STEEL

9 BFV VANE DUCTILE IRON ASTM A-536

10 VANE SHAFT TORQUE PLUG 18-8 STAINLESS STEEL

11 BODY SEAT RING 316 STAINLESS STEEL

12 BODY SEAT O-RING BUNA-N

DRAWN- _ CTJ 6" AV\[WA C504 - Style 4500 - CL1 50
KENNEDY VALVE [pare. 11/27/2018 BFV with F/A 12 MSS$/ISO Connection
Division of McWane, Inc. 27 Sub-Asser’r\\AgI%b] DNS\a’renaI List
1021 EAST WATER STREET ELMIRA, NEW YORK 14901 BO 6 M B B 'I ‘|



joe.capper
Stamp


O NN DN~

5, 5.
—— ’——18 D137%
P113"B.C.

>
= , < (60"

g
'
' —
%g
\

O

M&H VALVE CO
|

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
29 TURNS TO CLOSE

6 BOLTS ON EACH FLANGE

3/4" DIAMETER OF BOLTS

OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT

RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

DRAWN: CTJ 8" - Siyle 4500 - CL150
KENNEDY VALVE DATE: 11/27/2018 BFV with F/A 12 MSS/ISO Connection-

Division of McWane, Inc. | o

1021 EAST WATER STREET ELMIRA, NEW YORK 14901 BO8MAM ] ] MJ EN DS = Buried Operator



joe.capper
Stamp


D]

%

SECTION A-A
SCALE1:3
o  w
DETAIL B
SCALE2:1
ITEM NO. DESCRIPTION MATERIAL
1 VANE SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFVBODY DUCTILEIRON ASTM A-536
4 UPPER JOURNAL BEARING NYLATRON
5 VANE SEATRING EPTwith SSINSERT
6 HEX HEAD CAPSCREW 18-8 STAINLESS STEEL with NYLOC PATCH
7 LOWER JOURNAL BEARING NYLATRON
8 BFVBODYEND PLUG STEEL
9 BFV VANE DUCTILEIRON ASTM A-536
io0 VANE SHAFTTORQUE PLUG 18-8 STAINLESS STEEL
11 BODYSEATRING 316 STAINLESS STEEL
12 BODY SEAT O-RING BUNA-N
WAITEN CONSENT DESoN AN VENTON MOHS KRV o ot
DRAWN: ZF 8" AWWA C504 - Style 4500 - CL150
KENNEDY VALVE [ 19717 BFV with F/A 12 MSS/ISO Connection

Division of McWane, Inc. [DWG.

1021 EAST WATER STREET ELMIRA, NEW YORK 14901 NO.

BO8SMBBI11

Sub-Assembly - Material List
MJ ENDS



joe.capper
Stamp


NSO NN~

[

—_

o~

5||
— @]5@
@ 14"B.C.

805"

(€]

| mlm——<— 00—

—_—

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)

29 TURNS TO CLOSE
8 BOLTS ON EACH FLANGE
3/4" DIAMETER OF BOLTS

OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT
RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE

Division of McWane, Inc.

1021 EAST WATER STREET ELMIRA, NEW YORK 14901

DRAWN: CT1J
DATE: 11/26/2018
DWG.

" BIOMAMI1

10" - Style 4500 - CL150
BFV with F/A 12 MSS/ISO Connection-
MJ ENDS - Buried Operator



joe.capper
Stamp


U

N

U

SECTION A-A
SCALE1:4
DETAIL B
SCALE2:1.5
ITEM NO. DESCRIPTION MATERIAL
1 VANE SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFVBODY DUCTILEIRON ASTM A-536
4 UPPER JOURNAL BEARING NYLATRON
5 VANE SEATRING EPT with SSINSERT
6 HEX HEAD CAPSCREW 18-8 STAINLESS STEEL with NYLOC PATCH
7 LOWERJOURNAL BEARING NYLATRON
8 BFVBODYEND PLUG STEEL
9 BFV VANE DUCTILEIRON ASTM A-536
10 VANE SHAFT TORQUE PLUG 18-8 STAINLESS STEEL
11 BODY SEAT RING 316 STAINLESS STEEL
12 BODY SEAT O-RING BUNA-N

KENNEDY VALVE |[pare:

1/9/17

Division of McWane, Inc. |2We

1021 EAST WATER STREET ELMIRA, NEW YORK 14901

NoO.

B1OMBB11

BFV with F/A 12 MSS/ISO Connection

Sub-Assembly - Material List
MJ ENDS



joe.capper
Stamp


7w
() 17?

_] "
5, @ 164"B.C.
/8/ @ ? "
B (]
_ N A4
44 —]r.
e b
|
Ll
| |
83 |
| 13.30
ﬁ |
S J |
= |
g i 14.44
|
|
|
| |
| |
| e |
— T =
L L\ J_——1
L L]
S S Tu 3 .
—— 45 - 28 113 ar;
o
24
1. FLOW MAY BE IN EITHER DIRECTION
2. VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
3. 29 TURNS TO CLOSE
4. OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT
5. RATED AND TESTED FOR 150psi WORKING PRESSUR
é. 3/4" DIAMETER BOLTS
7. GASKETS, GLANDS, AND BOLTS FOR MECHANICAL JOINT FURNISHED
WITH VALVE WHEN SPECIFIED ON ORDER
DRAWN:  CTJ 12" - Style 4500 - CL150
KENNEDY VALVE [pare: 1112612008 |  BFV with F/A 12 MSS/ISO Connection-
amamivision of McWane, Inc. o a1l | MECHANICAL JOINT - Buried Operator



joe.capper
Stamp


° 2 g ® ® 90
7z, 77
7 ;i /
Bz 2 \
an
)| 7 @ |
] 7 Z
_ > |
DL W,
® o
SEAT DETAIL
ITEM NO. DESCRIPTION MATERIAL
! VANE SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING EPDM, BUNA-N
3 BFV BODY DUCTILE IRON ASTM A-536
4 UPPER JOURNAL BEARING NYLATRON
5 VANE SEAT RING EPT w/ SS INSERT
é HEX HEAD CAP SCREW 18-8 STAINLESS STEEL w/ NYLOC PATCH
7/ LOWER JOURNAL BEARING NYLATRON
8 BFV BODY END PLUG STEEL
9 BFV VANE DUCTILE IRON ASTM A-536
10 VANE SHAFT TORQUE PLUG 18-8 STAINLESS STEEL
1] BODY SEAT RING 316 STAINLESS STEEL
12 BODY SEAT O-RING BUNA-N
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED. DRAWN: KLM 12" AWWA C504 ) SiYIe 4500 ) CL] 50
KENNEDY VALVE [pare 102016 BFV with F/A 12 MSS/ISO Connection
Division of McWane, Inc.  [pwa. No. Sub-Assembly - Material List
1021 EAST WATER STREET ELMIRA, NEW YORK 14901 B12MBB11 MECHAN'CAL JO|NT



joe.capper
Stamp


S
3
[~

o NN LA WN ~

0

~—— 0|

w

oo

w
o~

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS

48 TURNS TO CLOSE

12 BOLTS ON EACH FLANGE

3/4" DIA. OF BOLTS

OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT

RATED AND TESTED FOR 150psi WORKING PRESSURE

GASKETS, GLANDS, AND BOLTS FOR MECHANICAL JOINT FURNISHED
WITH VALVE WHEN SPECIFIED ON ORDER

WEIGHT OF VALVE IS 450 LBS.

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

DRAWN: ZF 14" - Style 4500 - CL150
KENNEDY VALVE |pare: 12/3/2018 BFV with F/A 16 MSS/ISO Connection-
Division of McWane, Inc. D%GiI\ZMAM] 100 MECHANICAL JOINT - Buried Operator



joe.capper
Stamp


? 2999300
17 7
/‘ \
/ ]
1
g % )
16 @
SEAT DETAIL
ITEM NO. DESCRIPTION MATERIAL

] OPERATOR SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNAN
3 BFV BODY DUCTILE IRON ASTM A-536
4 UPPER JOURNAL BEARING FIBER & REINFORCED TEFLON
5 TORQUE PLUG 304 STAINLESS STEEL, ASTM A-276
5 VANE SEAT RING EPT W/ STAINLESS STEEL INSERT
7 HEX HEAD CAP SCREW | 18-8 STAINLESS STEEL W/ NYLOC PATCH
g BFV VANE DUCTILE IRON ASTM A-276
0 THRUST SHAFT 304 STAINLESS STEEL, ASTM A-276
10 LOWER JOURNAL BEARING FIBER & REINFORCED TEFLON
/] THRUST BEARING BRONZE ALLOY
]2 | THRUST BEARING CAP SCREW 18-8 STAINLESS STEEL
13 BODY END PLUG O-RING BUNA-N
14 BODY END PLUG STEEL
/5 BODY SEAT RING 316 STAINLESS STEEL
16 BODY SEAT O-RING BUNA-N

PO A et e o T 14" AWWA C504 - STYLE 4500 - CL150
KENNEDY VALVE loarer s3773015|  BFV. W/ F/A16 MSS/ISO CONNECTION

DWG.
NoO.

B14MBB11

Division of McWane, Inc.
1021 EAST WATER STREET ELMIRA, NEW YORK 14901

SUB-ASSEMBLY - MATERIAL LIST
MECHANICAL JOINT ENDS



joe.capper
Stamp


ONSNO NN =

Ay

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS

48 TURNS TO CLOSE
12 BOLTS ON EACH FLANGE
3/4"DIA. OF BOLTS

OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT

RATED AND TESTED FOR 150psi WORKING PRESSURE

GASKETS, GLANDS, AND BOLTS FOR MECHANICAL JOINT FURNISHED

WITH VALVE WHEN SPECIFIED ON ORDER
WEIGHT OF VALVE IS 450 LBS.

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

DRAWN: CTJ

KENNEDY VALVE DATE: 12/3/2018

Division of McWane, Inc. |[DWG. No.

1021 EAST WATER STREET ELMIRA, NEW YORK 14901 B -I 6MAM -| -| OO

16" - Style 4500 - CL150
BFV with F/A 16 MSS/ISO Connection-
MECHANICAL JOINT - Buried Operator



joe.capper
Stamp


14 (13 @@

PO P

pe

ZI

- |}

I

%ﬁ@? >

L

/’ T

¢ =f) |/ Q
I/ 1
SEAT DETAIL
ITEM NO. DESCRIPTION MATERIAL

] OPERATOR SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFV BODY DUCTILE IRON ASTM A-536
4 UPPER JOURNAL BEARING FIBER & REINFORCED TEFLON
5 TORQUE PLUG 304 STAINLESS STEEL, ASTM A-276
6 VANE SEAT RING EPT W/ STAINLESS STEEL INSERT
7 HEX HEAD CAP SCREW 18-8 STAINLESS STEEL W/ NYLOC PATCH
8 BFV VANE DUCTILE IRON ASTM A-276
9 THRUST SHAFT 304 STAINLESS STEEL, ASTM A-276
10 LOWER JOURNAL BEARING FIBER & REINFORCED TEFLON
11 THRUST BEARING BRONZE ALLOY
12 THRUST BEARING CAP SCREW 18-8 STAINLESS STEEL
13 BODY END PLUG O-RING BUNA-N
14 BODY END PLUG STEEL
15 BODY SEATRING 316 STAINLESS STEEL
16 BODY SEAT O-RING BUNA-N

E ' oA TF 16" AWWA C504 - STYLE 4500 - CL150
KENNEDY VALVE (pare 8/31/2078 BFV w/ F/A16 MSS/ISO CONNECTION

Division of McWane, Inc.
1021 EAST WATER STREET ELMIRA, NEW YORK 14901

DWG.

" B16MBBI11

SUB-ASSEMBLY - MATERIAL LIST
MECHANICAL JOINT ENDS



joe.capper
Stamp


ONXO NN~

A

—
Y H
_ } —h
%ﬂf
III7I‘|II ~

FLOW MAY BE IN EITHER DIRECTION
VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS

48 TURNS TO CLOSE
16 BOLTS ON EACH FLANGE
3/4" DIA. OF BOLTS

OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT
RATED AND TESTED FOR 150psi WORKING PRESSURE

GASKETS, GLANDS, & BOLTS FOR MECH. JOINT FURNISHED w/ VALVE

WHEN SPECIFIED ON ORDERS
WEIGHT OF VALVE IS 450 LBS.

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE

Division of McWane, Inc.
1021 EAST WATER STREET ELMIRA, NEW YORK 14901

DRAWN: CTJ

DATE: 11/27/2018

DWG.

NoO.
B1IBMAMI 1

18" - Style 4500 - CL150
BFV with F/A16 MSS/ISO Connection-
MJ x MJ ENDS - Buried Operator



joe.capper
Stamp


I e

1mif 2
SEAT DETAIL
ITEM NO. DESCRIPTION MATERIAL

/ OPERATOR SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFV BODY DUCTILE IRON ASTM A-536
4 UPPER JOURNAL BEARING FIBER & REINFORCED TEFLON
S5 TORQUE PLUG 304 STAINLESS STEEL, ASTM A-276
6 VANE SEAT RING EPT W/ STAINLESS STEEL INSERT
Ve HEX HEAD CAP SCREW 18-8 STAINLESS STEEL W/ NYLOC PATCH
8 BFV VANE DUCTILE IRON ASTM A-276
9 THRUST SHAFT 304 STAINLESS STEEL, ASTM A-276
10 LOWER JOURNAL BEARING FIBER & REINFORCED TEFLON
11 THRUST BEARING BRONZE ALLOY
12 THRUST BEARING CAP SCREW 18-8 STAINLESS STEEL
13 BODY END PLUG O-RING BUNA-N
14 BODY END PLUG STEEL
15 BODY SEAT RING 316 STAINLESS STEEL
16 BODY SEAT O-RING BUNA-N

E ' oA TF 18" AWWA C504 - STYLE 4500 - CL150
KENNEDY VALVE [pare:  8/31/2018 BFV w/ F/A16 MSS/ISO CONNECTION

Division of McWane, Inc.
1021 EAST WATER STREET ELMIRA, NEW YORK 14901

DWG.

" B1SMBBI11

SUB-ASSEMBLY - MATERIAL LIST
MJ ENDS



joe.capper
Stamp


VWONOOA~WODN—

N
w
M‘U‘

:

21.74

(0¢]

|— ml@_><—

%
!

w
o\‘w

oo‘_
N

FLOW MAY BE IN EITHER DIRECTION
VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
NUMBER OF TURNS TO CLOSE: 48
NUMBER OF BOLTS ON EACH FLANGE: 14
DIAMETER OF BOLTS: 3/4

INSIDE DIAMTER OF VALVE HUB: 21.74"
OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT
RATED AND TESTED FOR 150psi WORKING PRESSURE
GASKETS, GLANDS, AND BOLTS FOR MECHANICAL JOINT FURNISHED
WITH VALVE SPECIFIED ON ORDER

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE [pare: 11/26/2018

Division of McWane, Inc.
1021 EAST WATER STREET ELMIRA, NEW YORK 14901

DRAWN:

CT1J

DWG.

N> B20MAMI1

20" - Style 4500 - CL150
BFV with 1250 F/A16 MSS/ISO Conection-
Mechanical Joint - Buried Operator



joe.capper
Stamp


SEAT DETAIL

ITEM NO. DESCRIPTION MATERIAL
/ OPERATOR SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFV BODY DUCTILE IRON ASTM A-536
4 UPPER JOURNAL BEARING FIBER & REINFORCED TEFLON
S VANE SEAT RING EPT W/ STAINLESS STEEL INSERT
é HEX HEAD CAP SCREW 18-8 STAINLESS STEEL W/ NYLOC PATCH
/ TORQUE PLUG 304 STAINLESS STEEL, ASTM A-276
8 BFV VANE DUCTILE IRON ASTM A-536
9 THRUST SHAFT 304 STAINLESS STEEL, ASTM A-276
10 LOWER JOURNAL BEARING FIBER & REINFORCED TEFLON
11 THRUST BEARING BRONZE ALLOY
12 THRUST BEARING CAP SCREW 18-8 STAINLESS STEEL
13 BODY END PLUG O-RING BUNA-N
14 BODY END PLUG STEEL
15 BODY SEAT RING 316 STAINLESS STEEL
16 BODY SEAT O-RING BUNA-N
17 OPERATOR MOUNTING BOLTS 18-8 STAINLESS STEEL
18 ISO FAT6 SEAL PLATE COMMERCIAL STEEL

. INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCI
WRITTEN CONSENT. . DESIGN AND INVENTION RIGHTS RESERVED. .

ED WITHOUT

KENNEDY VALVE [pare: 9/27/2018
Division of McWane, Inc.

1021 EAST WATER STREET ELMIRA, NEW YORK 14901 No. BQOM B B '| '|

DRAWN: LF

DWG.

20" AWWA C504 - STYLE 4500 - CL150
BFV w/ F/A16 MSS/ISO CONNECTION
SUB-ASSEMBLY - MATERIAL LIST
MECHANICAL JOINT ENDS



joe.capper
Stamp


9 1"
D317
®30"B.C.

PN A~WN

O

O s

[ ]4%”——

FLOW MAY BE IN EITHER DIRECTION

72 TURNS TO CLOSE

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
NUMBER OF TURNS TO CLOSE

(16) 3/4"BOLTS ON EACH FLANGE

OPERATED BY 2" AWWA OPERATING NUT / WRENCH NUT

RATED AND TESTED FOR 150psi WORKING PRESSURE

GASKETS, GLANDS, AND BOLTS FOR MECHANICAL JOINT FURNISHED

WITH VALVE WHEN SPECIFIED ON ORDERS
VALVE WEIGHT IS 800 LBS.

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED. 24” AWWA C504 B STY L E 4500 _ C L .| 50

KENNEDY VALVE (2o _cl BEV w/ F/A25 MSS/ISO CONNECTION

Division of McWane, Inc. [PWe.
1021 EAST WATER STREET ELMIRA, NEW YORK 14901 NO.

B24MAMI1

DATE: 11/26/2018 SUB-ASSEMBLY - DIMENSIONS

MECHANICAL JOINT



joe.capper
Stamp


13

SEAT DETAIL
ITEM NO. DESCRIPTION MATERIAL

] OPERATOR SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFV BODY DUCTILE IRON ASTM A-536
4 UPPER JOURNAL BEARING FIBER & REINFORCED TEFLON
5 TORQUE PLUG 304 STAINLESS STEEL, ASTM A-276
6 VANE SEAT RING EPT W/ STAINLESS STEEL INSERT
7 HEX HEAD CAP SCREW 18-8 STAINLESS STEEL W/ NYLOC PATCH
8 THRUST SHAFT 304 STAINLESS STEEL, ASTM A-276
9 LOWER JOURNAL BEARING FIBER & REINFORCED TEFLON
10 THRUST BEARING BRONZE ALLOY
11 THRUST BEARING CAP SCREW 18-8 STAINLESS STEEL
12 BODY END PLUG O-RING EPDM
13 BODY END PLUG STEEL
14 BODY SEAT RING 316 STAINLESS STEEL
15 BODY SEAT O-RING BUNA-N

E ' SRATN T 24" AWWA C504 - STYLE 4500 - CL150
KENNEDY VALVE [pare: 4/28/18 BFV w/ F/A25 MSS/ISO CONNECTION

Division of McWane, Inc.
1021 EAST WATER STREET ELMIRA, NEW YORK 14901 NO.

DWG.

BMJ-15-45-24-ISO

SUB-ASSEMBLY - MATERIAL LIST
MECHANICAL JOINT



joe.capper
Stamp


	4" MJ CL150 BFV ISO
	6" MJ CL150 BFV ISO
	8" MJ CL150 BFV ISO
	10" MJ CL150 BFV ISO
	12" MJ CL150 BFV ISO
	14" MJ CL150 BFV ISO
	16" MJ CL150 BFV ISO
	18" MJ CL150 BFV ISO
	20" MJ CL150 BFV ISO
	24" MJ CL150 BFV ISO



